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3600 = — — 0.6
3000 — — — 0.7
% 2700 — — — 0.8
* 2400 — — — 1.0
3 2100 = — — a2
-3 1800 — - 0.9 1.6
s 1500 — - 1.2 1.8
"] 1200 — 0.7 1.5 2
= 1100 s 0.8 — —
“ 900 — 1.0 1.9 3.0
S 600 = 1.5 2.5 4.5
'g 450 0.7 1.8 — —
= 400 0.8 2.0 4.0 6.0
300 1.0 3.0 5.0 7.5
E 200 1.5 4.0 8.0 11.5
i) 150 2.0 5.0 10.0 15.0
. 100 3.0 7.5 13.0 20.0
@ 75 4.0 10.0 16.0 25,0
‘LD 50 6.0 15.0 20.0 40.0
25 10.0 25.0 40.0 50.0

PIC CABLE RESISTANCE g
%)
NUMBER | PNEUMATIC RESISTANGE VALUES PER 1000 FEET g
OF PAIRS # 8 = T 5
= = = = ot
B
3600 — — = 0.1 '®
3000 — —_ — 0.1 3
2700 — — — 0.2 3
2400 — —_ — 03 ;
2100 — —_ — 0.4 o
1800 — — 0.2 0.4 o
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150 0.3 0.8 1.7 37 £
100 0.4 11 2.5 55 )
75 0.5 1.6 3.4 7.4 o
50 0.7 2.4 5.1 11.0 ]
25 1.4 5.1 11.0 220 -
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